
Answers

1)	 3 litres 600ml, 4 litres 800ml, 8 litres 400ml

2)	 20 jars

1)	 4100ml - Incorrect 
4750ml - Correct 
4700ml - Incorrect 
4350ml - Incorrect 
 
Accept any correct explanation that shows that Winifred is incorrect, such as Winifred is incorrect 
because bottle 3 has a total volume of 4700ml which is 50ml less than the label shows.

2)	 Accept any correct combinations of two ingredients that total 2 litres. For example, one bottle of dragon 
blood and one bottle of slug slime, or one bottle of nettle soup and fifteen bottles of briny broth.

1)	 briny broth, dawn dew, essence of nightshade, nettle soup = 1 litre 250ml

2)	 snake oil, teachers’ tears, dragon blood, slug slime = 5 litres 750ml

3)	 Wilson would use two bottles of briny broth and two bottles dawn dew giving a total volume of 700ml.
Wenda would use two bottles of snake oil and two bottles teachers’ tears giving a total volume of 7 litres 500ml.

4)	 Accept any correct combinations that use 4l of snake oil and then two ingredients totalling a whole number 
of litres. For example, one bottle of dragon blood and one bottle of slug slime or two bottles of nettle soup.
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